_ . 7. Defragmenting a disk means to reorganize files on the disk so that

- a1 P 2 g g rganize fi 1sk so that as

@ jL = jb ﬁ:}i k —f jL + + - $ &’Eﬁ. '-Eﬂi % frl_. 7? ﬂit- many pieces of the file as possible are in sectors on the same track,
regardless of the surface it is on. Explain why defragmentation can be
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9. Write a complete C' or Java program that asks for the price of an item
and the quantity purchased and writes out the total cost. |
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10. Write T if the statement is true, F if the statement is false. (Each
statement worth 2 points, total 10 points.)

a. All unethical acts are illegal.

1. Write pseudo code versions of an algorithm that gets as input your b. Encryption can be used for privacy purposes in addition to security
current credit card balance, the total dollar amount of new purchases, purposes.
and the total dollar amount of all payments. The algorithm computes
the new balance, which this time includes an 5% interest charge on any c. Metadata is stored in the data dictionary.
unpaid balance below $1000, 10% interest charge on any unpaid
balance between $1000 and $5000, inclusive, and 15% on any unpaid d. In a relational database, more than one table can be included in a
balance above $5000. ' database.
2. Write pseudo code versions of an algorithm to find the largest value in a | e. A markup language is typically used to create the animated
list. elements of a Web page.

3. ForalistD,B,GF A, C, E, perform a selection sort and show the list
after each exchange that has an effect on the list ordering.

4. Suppose a list of seven names: Albert Bob David Kim Mary Peter Sue,
using binary search to decide whether Jessica is in the list. What names
would be compared to Jessica?

5. What do the signed integers -254 and +300 look like in binary using 10
bits and signed magnitude integer representation?

6. Write a Boolean expression that is true if and only if x and y are both in
the range 100 to 1000 but x is not equal to y.




